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Flowers that are wind-pollinated are
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The picture below shows part of an African G ji G pllad Ga 12A oLl WA j‘h&

ecosystem. Which best explains how these s ‘d.’a'if EGHA t).:: oY) alanl) @i
Animals share the same ecosystem? €l Alall) &lilgaal) ol A
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Both are carnivores that hunt the same prey
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Both are producers that make their own food
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Each is prey for predators, so they protect each other
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4. Each has a different food source, so they do not compete




Which best describes budding? ?pb,;’m Chai L ﬂm!i L
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Animals that carry out internal
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IScientiﬂc theories are: 8 bl Al &y Jh::ll
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Scientist’s opinions.
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Which property depends on the pull of gravity?
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Use the figure below to answer the question: e Ce uqu 2L 355l PRESIR)
Windmills can generate electricity from: 1O L) L ol Calghal (g
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Which is an alternative source of energy? eala) aalka slas Ga G b (:;‘
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Study this picture. Spsiall oda Sl
Which part of the flower below is the 0ol Lad Al a3l 5 AT £ Ga 032
arrow pointing to?
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Which of the following is a plant il G oa NS 'y L Laa g

adaptation for a hot, dry climate? fuilally jlall bl aa

| l-eammg Outcomes Covered %

l o 341

.| Large, thin leaves dacd g 5080 (39!
, | Bright-colored flowers aalil ol iy ja

Lengthened growing season aill Jiad Jgha

(o]

= —
Thick, waxy leaves and stems  deaslly <and) Slasdly (354Y) f'a e

di

o

e L Pt et A e e e e e VAL e e g o L i e e e T L L T el e e e e e oy T T e T T T o T e e o e | D A e TH P




Which are examples of qualitative data? eae i clibalt Yiha L Laa gl
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Based on the information in the food web gl A Bigasall Claghall AS Ly

below, which two animals are in competition? *:s,.éus & Cilgia (53 colial A%5)3a1)
snake 2, o
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toad \
bird
mouse /
/:/47 grasshopper
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Study this picture. S)skall o328 S

This plant is reproducing using Ln.\;fu.u «';.L;ﬂ\ (K7 )SL"@
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Which was the independent variable in the ¢alial L padl) 2 Jiieal) jadad) L A

experiment below?
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Which is a relationship between two

organisms that benefits both organisms?
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Robin — blackberries —» bobcat
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Bobcat —— blackberries — robin
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What kind of asexual reproduction €3 guall duda ol (g2l) iaddl Al g4 La
Does the picture show?
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Which diagram shows the pupa stage of aayan sk ’c..:a_,é.hhu’ A f;‘
the butterfly’s life cycle? ¢AE)A) Bl 338
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Which is a behavioral adaptation? ?lj;_,.\..ﬁ e 3-;: ('qﬁl La
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What is the special role an organism P ) il A aghs (g3 paldd) pall L
plays in a community? £ ilal adine
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Which structure allows plants to make U8 (a gl ey LAY Zald q.'ii\ i.,udl La

food through photosynthesis? ?5:13.111 e L)
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